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Name:________________________  Period:___________ 

Activity Sheet T3–1g    Review 7
[image: image2.wmf][image: image3.wmf]1. Order Least to Greatest: {3.81, 318%,√15, 3.089, 3⅞}      2. Calculate the MAD:  {1, 2, 5, 12, 4, 6, 5, 14, 8, 3}

 ______________________________   
_________________________________
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3.   Set A {2⅞, √8, –π, 3.6, √-4, 0,-5}: ⊂B{q} =_____________________4. √187   = ________
                                                                                                              x                                      55⁰
5.     – 0.000,005,160  = _____________
            6. Find x:              151⁰                                                                                                        
                                                            (in scientific notation)

7.    – 2(x + 1) + (– 4x ) = (– 9x + 2) – (– 3x – 4)  x= ____________       (For #  6.) x=________⁰
8.   Jose spent an average of $216 and 2m on tickets.  The first month cost  m  plus 6 dollars and the second month cost $18 less than 2 times first month.   Find ‘m’ cost.  m =_____________ 

9.  Given: (6,4),(-6,4),(1,2),(2,-2),(1,4) . Which points makes it a not a function?  _________   

                                                                                                 32m
10.                                                                          11.                               Total
                               Perimeter: = ___________                                        Perimeter: = __________  
                         8m                                                                                                 Total
                                                                                                                  17 m     Area: = _______
       6m      6m                                                                         16m                                        (Bonus)
12.   8 – 2x   =     –11x + (– 6)       x = ________       How many times greater is the dilated area                     
            5                     31                                             and volume of a shape using the scale factor                                                    
                                                                                    of 5?  13. Area________ 14. Volume _____

For 15 & 16                                                                                                                       
 Area = 19 m2                        Perimeter = 100m         15.   Perimeter of Smaller Shape: _______
                                  4m                            16m
                                                                                     16. Area of Bigger Shape: _____________
17. If ( x, – 4) is a solution for      3x + 6y = 18      What is x?  _____________   
 
18. Point A (4,– 2) ; Find A' if A is Rotated 90⁰  (clockwise)   A'= _________   

19. Translation: {Left  4},{Up 6} of point ( 8, –5.): Location __________   
What is the Slope and Equation of the line that goes through the points: (– 4, 2) and (– 5, 1) ?    

 20.   Slope:  ________________        21.    Equation: ___________________
                                                                                              (Slope Intercept form)
 Find the  Slope and Equation:                         x    (   y       22.  Slope: _____________
of the line that created the Table                    – 3   ( 11
                                                                           1   ( –1       Equation: ___________
                  12m     23.  Volume__________     6   ( –16            (Bonus Slope Intercept form)
            

        4 m      
